WD TIYRIVT YIRS 791 noon M AT TINOY Y UpT

30.7.10
1000 (1 72wp) 2 101b (X375 710K 217072 51 1237 KIIN 29 19))

I

II

7,33 877721 IR N2 NRNYY HIRY XY 1979 ") .
7,7 0727 999RA ANR NNNA2 173 NYYN NIDIA *NY YOY NYDYW) NP1 NDIan 1RNa Y .
25,35 wx2:NYIN T2 2PY? T2 922 YA 03 NID DV TY TR 92 YY TUR NYID T DR ORIV N2 IR NY 19 VY .

2,45 X777 :02NAYIN 992 'NY RIN NAY 1PN KD NIRYN Y2 YTP RPN 1IN2Y NAY 929D D121 NIRYN NYYR DN NYY .
72,25 8777707 YR DRAIPM DPNWA) NR DN?IYY DY 02 WIp RIpn RIN 071930 DY NI »awn WIny 1ivya I8 .

1 mwn: dispute "> /1127 as to whether 1n3 applies to nkno NnNa
a  2272"m only applies to nMnv NnNa
b Amir /7 also applies to nrnY
i Argument: 2py> was allowed to eat all mnna, yet was prohibited from eating 1"n3 - applies to all animals
ii  Counter (7227): it was prohibited at »»v — was written in N*wx1 to explain etiology of 1o'R
Discussion:
a  Challenge to 71777 /7. he does not allow for MR to augment MR (MNO'R HY SN NOR PR)
i Support: nm 1 rules that Xno 1Y nNY21 does not generate NY’HanN 1’12 DITHA NRMY
1 Reading: v.1 as applying only to those birds that are oo due to 18701 1%13, not NRMV
b Suggested answer: "> 1 holds that v P31 PR and eating 1”03 of a NknY only carries nMan due to 1”M, not RNV
i Rejection: » rules that eating 1n of a NRNL generates 2 sets of Man (3"M as well as nrNV) (V™ fully exempts)
1 Note: ™'s position is difficult; if MR Yy 5N MO’R, he should obligate twice; if not, at least find liabilty for xnv
(a) and: if he holds that v" P71 PR, let him find liability for 1n3 alone
(b) answer: he holds v™1 P11 PR, but based on v. 3, MR only applies to animals that are permitted
¢ Rather: 1 holds that 73 :voR applies in utero, and nkmMY MR and 73 N*R are created simultaneously
i Challenge: * rules (X mwn) that 3N doesn’t apply in utero
ii  Defense: that limitation only applies to nmnv, per v. 2 (*"1’s source for allowing 1”03 of a 9Y®) — not RNV
1 Challenge: the D 1oR aren’t created simultaneously
(a) Per: 2:1 vm—nninterpreted as a Y01 that didn’t yet have its 11 formed (2173 come later)
(b) Defense: ‘tho 13 MR comes later, it’s severe — applies to m 71 ( 2py’ "2 before n"n) and augments
(c) Support: ™ (our mwn) rules that 13 MR was operative during times of apy

I 27’s report of man/n" re multiple sets of Man for eating 1”nx of various prohibited animals

a  7baxn™ -2 liabilities (“80 man”); 11271 - 1 liability
b Spoin vy by all agree to 2 liabilities
i Question: who is authority who doesn’t allow for 901 MR when it is 5913 (e.g. nY21) but does allow for it when it
is 1MN MR (e.g. YpoIn MY which is NRINI MOR)?
ii  Answer (837): 30, per 2:» N1t — if a RNV ate DWTP which are mrNY
1 jp’m liable (for n13) whether the w1p was 711V or ®nv
2 7%p7 only liable if the wTp was Mo — if it was Rnv, he ate something unfit for w1p (XnY)
(a) Rejoinder: anytime a ®nv eats something, it becomes 8nv when he touches it
(b) Analysis (¥27): they agree if the person was Rnv first; disagree only if 71 became &nv earlier
(i) 227 allow for 9915 MR when he becomes &nv later (he would be liable for eating mMnv->mrnNY too)
(ii) 2777 don’t apply that "1n”
1. But: 30" does allow 9un nrmvo (which is 9mn) to “add on”
(iii) Challenge (»wn 7): perhaps 910 NRML is more lenient, as it can be repaired (Mmpna nY»av)
(c) Challenge: 3"n" allows for 5912 MoK, per his ruling (contra ™) re: NIRYN on 2”M” Naw
(i) 27777 liable twice (if he was aw), per vv. 4-5
(if) »”r only liable once
(d) Defense: per ®11n 12 '0v "1 — that mwn is accurate, with positions reversed
(e) 1 77 according to " (per reversal), if he was a1 about naw but T about 3”0y — 27N
(i) But: the inverse — 102
1. »an: because nav is at a set, stable time; 5"ny depends on the declaration of n”1 by 12
a. Challenge (¥27): in either case, he violated both and their sanctity arrived simultaneously
2. X27 it was a particular year when there was a decree, and they “moved” 5"nv to naw (to hide it)
a.  Note: P11 and all 'mni reported the same way, confirming X17’s hypothesis
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